HS.2 (mod 5)

blocks | defect matrix blocks | defect matrix
G: 1 3 25 x 14 6 0 27501 = X23,0, $16,0
2 1 Hx4 7 0 27502 = X23,1, ¥16,1
3 1 5x4
4 0 17501 = X19.0, 14,0 2.G: 8 3 16 x 5
5 0 17509 = X19,1; P14,1 9 _ 0 1000, = X32,05, ¥27,0
10=9 0 10002 = Xx32,1, Y271

Block 1: | 10 @11 ®20 ®21 ©30 $31 P10 P41 P5+ P80 P81 Lo+ P10

11 =x1,0 1 .
Io =x11 . 1 .
221 = X2,0 1 . 1 .
222 = X2,1 . 1 . 1 .
771 = X370 1 . 1 . 1 .
772 = X371 . 1 . 1 . 1 .
1541 = X4,0 1 . . . 1 . 1 .
1545 = Y41 o1 : . o | .
3081 = X5+ . . 1 1 . . . . 1 .
2311 = XS,O . . 1 . . . . . . 1 .
2312 = X8,1 . . . 1 . . . . . . 1 . .
6931 = X9,0 1 . 1 . 1 . 1 . . . . . 1
6932 = X9,1 . 1 . 1 . 1 . 1 . .
7701 = X10,0 1 . 2 . 1 . 2 . 1 1 .
7702 = X10,1 . 1 . 2 . 1 . 2 1 . 1 .
15401 = X11+ . . . . . . . . . 1 1 2
17921 = X14+ . . . . .
10561 = X16,0 . . 1 . 1 .
10562 = X16,1 . . . 1 . 1
13861 = X17,0 . . . . . . . . .
13862 = X17,1 . . . . . . . 1 . . 1
14081 = X18,0 1 . 1 . . . 1 . . 1 .
14082 = X18,1 . 1 . 1 . . . 1 . . 1
25201 = x22,0 . . 1 1 . . 1 1 1 1 1
25202 = X22,1 . . 1 1 . . 1 1 1 1 1
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(BlOCk 1:) ©11,1
11 =x1,0
Ia =x11
221 = x20
229 = x2.1
771 = X3,0
T2 = X3,1 ¥1,0
1541 = x40 P11
1542 = xa,1 ¥2,0
3081 = x5+ ¥2,1
2311 = xs.0 3,0
2315 = xs.1 3.1
6931 = X9.0 . ¥4,0
6932 = Xo.1 1 P41
7701 = X10,0 Y5+
7702 = Xx10,1 ¥8,0
15401 = X11+ . 908’1
17921 = x144 1 Po+
10561 = X16.0 . #11,0
10562 = X16,1 1 PiL1
13861 = X1770 1
13862 = X171
14081 = x18,0 .
14082 = X18,1 1
25201 = X2270 1
25202 = X22,1 1
Block 2: | w70 @120 ©¥130 ©150
1751 = X7,0 1 .
8251 = X130 1 1
19251 = X20,0 1 .
19255 = x21,0 1
32001 = X24,0 1
Block 3: | o71 121 9131 @151
1752 = X771 1 .
8252 = X131 1 1
19252 = X201 1 .
19254 = X211 1
32002 = x24,1 1

¥7,0
¥12,0
$13,0
©15,0

P7,1
©12,1
P13,1
$15,1

175,
6501
1275,
1925,

1759
6504
12759
1925,



Block 8:

P17+ P19+ P21+ P23+ P25+

561 = X250
562 = Xx25,1
3521 = X26+
12321 = x2s+
18481 = x30+
24641 = X33+
17922 = x35,0
17925 = X351
18482 = x36,0
18483 = x36,1
39601 = x37+
46081 = x39+
25203 = Xx41,0
25204 = X411
25205 = Xx42,0

25206 = X42,1
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P17+
P19+
P21+
P23+
P25+

561
2404
8801
912,
15524



